
Instructions Rear Window RZR 170

Instructions Rear Window RZR 170

4 – Rubber Coated Clamp  1.25”

4 – Bolt  1/4-20 × 1”  

4 – Locknut 1/4”

8 – Flat Washer 1/4”

1 – Bottom Bulb Seal (29”)

4 – Rubber Coated Clamp  1.25”

4 – Bolt  1/4-20 × 1”  

4 – Locknut 1/4”

8 – Flat Washer 1/4”

1 – Bottom Bulb Seal (29”)

STEP ONE – Put the clamps on 
the roll cage in the approximate 
locations to line up with the holes 
in the window.

STEP TWO – Place trim onto the 
bottom of the window where it 
will contact the plastics. Install the 
rear window from the interior of the 
cage.

STEP ONE – Put the clamps on 
the roll cage in the approximate 
locations to line up with the holes 
in the window.

STEP TWO – Place trim onto the 
bottom of the window where it 
will contact the plastics. Install the 
rear window from the interior of the 
cage.

Read through all instructions before install.

Read through all instructions before install.

Clamp Orientation

Clamp Orientation


